
●

●

●

●

●
●
●
●●

NMD target nontarget

0
20

00
40

00
60

00
Length of 3' UTR

stringent set

●
●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

NMD target nontarget

0
20

00
40

00
60

00

Length of 3' UTR
less stringent set

●

●●
●

●

●

●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●
●
●

●

●

●

−2000 0 2000 4000

0
20

00
40

00
60

00

Length of 3' UTR
stringent set

nontarget isoform

N
M

D
−

ta
rg

et
 is

of
or

m

●

● ●

●

●●

●

●

●

● ●●

●

●

●
●

●

●

●●

●

●
●

●

●

●

●

●
●

●

●

●

●
●

●

●

●●

●

●
●

●

●
●

●

●●
●

●

●

●

●

●● ●
●

●

●
● ●●

●

●

●
●

●
●

●

●

●

● ●●
● ●

●

●●

●

●

●

●
●

●

● ●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●
●

●

●
●●

●

●●

●

●

●
●

●

●

●

● ●

●

●

●●
●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

● ●●
●

●

●

●
●

●

●

●

●
●

●

●

●
●
●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

0 2000 4000 6000 8000

0
20

00
40

00
60

00
Length of 3' UTR
less stringent set

nontarget isoform

N
M

D
−

ta
rg

et
 is

of
or

m

Figure S13. Length of 3’ UTR. As Figure S9 for the feature “length of 3’ UTR.”


